ZF2 AAQ

0eg %




2 53190] Tjste] The: 2717k LR 48 At 24 2.

3= ( )
9= ( )




3. HES AR A HAL,

o] 73, Yol 842591 4




ol
14

1000000000] 201 [ Jelata &Yct,




& SolA] mojo] A o] £4E AL

172495260000

> L
=F




e =
AR 2A L




[ el ggre 25 12 AL o

27384204 0|4 At 2] o] L2p= | o]
o ettt

@ 7,70000000 @ 2,2000000

@ 7,7000000 ® 3,30000000

® 2,20000000




e[ ool 9Ee 2 ARz 2 AL o= AU
1070200090006008
= 1000000000000000 + | |+ \
490000000 + 6000 + 8

@ 7000000000000, 200000000000
@ 70000000000000, 20000000000
@ 70000000000000, 2000000000
@ 7000000000000, 200000000

® 70000000000000, 200000000000



=

% A1ojo] obd 71L& o] YU

oo

@ 1000000000 @ 100000 <] 10000 HH
® 1000 T2} 100 =j @ 9olHTt 19 & 4

® 9999 WtHTI 1 & 4



@ 532 9 69 Tt © 9074 7t 75
® 509 & 700 T+ ® 90470057
O ©,6,6,0 @ ©,6,0,0 ® ©,0,0,6

@ 00,0 ® 0,006



11.

-

BT
)

Nd

B
)

Nd



10H

10005, ¢, 104
1009F, 10009, <
100000, 1000000, 10000000

100, 1000, 10000

© ® © © ©

1009, 10009, 10 ¢



13. the F 7P 2 5k olm AYUAR

@ 5000000 + 600000 + 90 + 8
@ 6825360

@ Suggt S e LA
@ 7000000 K e} A9k 22 4

(® uwro] 6280°]11, 1°] 1863¢1 &=



14.

Zo0]9] zF%] 1000042] 47, 1000472 124, 100 L4+ 46
O T o

A, 10942 32717F & sy 2Fol7F Hadol &=
B AupQlA] A5HA L,

[e]

B .
(=1 i)

T T



15.

S|At A A5 FoE F7] flste] 23 olM et Zo
2k

|
_ 1=}
& BB B EL BT Ankly7}

10000 L #a] 2157} 1000 FA 240 %S,
1000 ¥ &2 2= 7F 10034 7900 F-&




16.

ok Aze] 29 10088 FAE oF 9em B YTh 12 92
LR A H 2 ZS o] ol o AJY7L?

@ % 9m @ °F90m @ °F900m
@ °F 9km ® <9F 90km

a
-



17.

104 9742 o] =5

7} & 4=H} 1009

D
=%



18. A 7v=[1][2) [3] [4)[5 1 Ut ol 23 7leg @ waga

WA A1 T 58 WS T, 7 30] YERE Sk dnkel 7}

D 3000 @ 30 ® 3
@ 300 ® 30000



19.

g M 2 4RE A2 e AL ol AU

1
@ 235%2] 100 1H © 69 72005t 00

1
© 3% 500191 1000 ) @ 419 670%]

9,606 ©606 06 006 6 0
0066 06006




o}z Ao] o] wA| sk [ ool ure g Aejo] £ nE

M7t

2674556008 < 26745D7023

@ 374 @ 47 @ 574 @ 671 ® 770



